Unit (1)
-

1- the patient suffers from pain on or difficulty in passing urine. The ………. Is that he suffers from dysuria.

a) Digestion

b) Dysphagia

c) Anemia

d) Diagnosis
-

2- norah suffers from higher than normal blood pressure. This is recorded on her chart as..

a) Hypertension

b) Hyperthyroidism

c) Hyperpyrexia

d) Hyperventilation
-

3- after the patients temperature decreased and returned to normal, the patient was described as ……………

a) Preoperative

b) Afebrile

c) Subcutaneous

d) Intercostal 

-

4- the patients temperature was over 41c. he,s………….

a) Febrile

b) Hypertensive

c) Subgastric

d) Postoperative 

-

5- Khalid was involved in a car accident. Several ribs were broken and he had a /an ……..bleeding .
a) Intercostal

b) Diagnostic

c) Intravenous

d) Dyspnoeic

-

6- hessah al shehri had an operation last night. Her ……….. course was smooth.

a) Preoperative

b) Hypotensive

c) Postoperative

d) Hypertensive

-

7- the patient had an urgent …….. to help him breathe. A tube was inserted into the windpipe .
a) Gastrostomy

b) Colostomy

c) Tracheostomy

d) Cystostomy

-

8- she doesn’t feel properly in her right leg because of a ……….. deficit. It seems that she has got some nerve damage.

a) Cardiac

b) Neural

c) Angiographic

d) Gastric

-

9- the cardiologist asked the patient to have a/an ………. to examine the blood vessels of the heart.

a. Gastroscopy

b. Neuralgia

c. Nephrosis

d. Angiography 
-

10- the patient had a chronic attack of inflammation of the stomach. This …….. caused a permanent damage to the stomach.

a) Cardiology

b) Gastroscopy

c) Nephrosis

d) Gastritis

-

11- the results of the blood test show that the level of ……. is very low. This makes the patient susceptible to infections .

a) Gastritis

b) Neuralgia

c) Leucocytes

d) Angiograph

-

12- ……….. use to give the prefix hyper- its opposite ?

a) ab-

b) dys

c) hypo-

d) inter-

-

13- use to give the opposite of supra- ?
a) sub-

b) ad-

c) intra-

d) poly-

-

14- ……. Use to give the adjective febrile its opposite meaning ?

a) ad-

b) super-

c) a-

d) dys-

-

15- ……. add to the noun tension so that it means low blood pressure ?

a) hypo-

b) hyper-

c) intra-

d) inter-

-

16- …….. add to the combining form cardi/o so that it means the study of the heart ?
a) –logy

b) –ac

c) –itis

d) –ectomy

-

17- ……. add to the noun vein so that it means pertaining to a vein?

a) –al

b) –ous

c) –ive

d) -ic

Unit (2)

-
1- he had an ……………. To repair the upper cleft lip.
a) Palatoplasty 
b) Labiop 1 asty

c) Gastrop 1 asty

d) Anoplasty

-

2- direct viewing of the stomach can be achieved by means of …………

a) Pharyngoscopy

b) Co 1onoscopy

c) nephroscopy

d) gastroscopy

-

3-the main function of the …….. is to secrete a fluid containing enzymes that aid digestion.

a) Oesophagus

b) Stomach

c) Liver

d) Pancreas

-

4- the ………… artery takes blood to the liver .

a) Palatine

b) ileal

c) hepatic

d) gingival

-

5- the most common sites for ………. are the stomach and the first few centimeters of the duodenum .

a) ulcers

b) pharyngitis

c) gingivitis

d) illectomy

-

6- the patient underwent a surgical repair of the palate. This procedure is known as a ……..

a) angioplasty

b) 1iabioplasty

c) Palatoplasty

d) duodenoplasty

-

7- the dentist ……… her wisdom tooth yesterday. The left side of her face is still swollen.

a) Cholecystectomy

b) extracted

c) cheilitis

d) colonoscopy

-

8- A ……….. was performed for Mr. Al shehri to examine the inside of his colon using a colonoscopy.

a) gingivitis
b) colonoscopy

c) labioplasty

d) gastritis

-

9- He was diagnosed as having ……, an inflammation of the stomach.

a) labioplasty

b) gingivitis

c) dentistry

d) gastritis

-

10- the patient was given an appointment for   to remove his gall bladder surgically.

a) gastritis

b) labioplasty

c) cholecystectomy

d) rectal

-

11- He underwent a …………. To correct his cleft lip .

a) labioplasty

b) gingivitis

c) gastritis
d) rectal

-

12- mouth …………. are another form of steatites .

a) ulcers

b) labioplasty

c) gingivitis

d) gastritis

-

13- In ……….., the gums may be sore and swollen and may bleed during tooth brushing .

a) gingivitis
b) labioplasty

c) rectal

d) gastritis

-

14- A …………… swab was taken to look for the infection causing proctitis.

a) Gingivitis
b) Labioplasty
c) Gastritis
d) Rectal

-

15- …………………. Means to pull out a tooth .

a) Extract

b) Ixtrect

c) Ekstrakat

-

16- ……………. Is a visual examination of the stomach.

a) Gestriscopy

b) Gestroscopy
c) Gistroskopy

-

17- …………….. is the surgical removal of the larynx .

a) Leyrinjectomy

b) Laryngectomy

c) Layringectomy

-

18- ……………….. is an inflammation of the colon .
a) Colitis

b) Kolyetis

c) Colitis

-

19- ……………. Means an inflammation of the gum.

a) Genjivitis 

b) Jingivitis

c) Gingivitis

-

20- …………….. means pertaining to the mouth .

a) Oral

b) Eoral 

c) Aoral

Unit (3)
-

1- the ………. Is composed of several irregularly shaped cartilages attached to each other by ligaments and membranes.
b) bronchi

c) intubated

d) larynx
-

2- the two …………. Are formed when the trachea divides .

a) asthma

b) bronchi

c) anoxia

d) larynx

-

3- in …………. The patients skin, lips, tongue, ear lobes or nail beds are blue or gray.

a) Larynx

b) Bronchodilator

c) Bronchitis

d) Cyanosis

-

4- during anaesthesia the patient developed ……………

a) Larynx

b) Cyanosis

c) Bronchodilator

d) Anoxia

-

5- the orthopedic surgeon admitted the patient in order to ………… the liquid from his swollen knee.

a) Aspirate

b) Cyanosis

c) Bronchitis

d) Bronchodilator

-

6- the main symptoms of ………. Are coughing, wheezing and shortness of breath.

a) Aspirate

b) Asthma

c) Cyanosis

d) Bronchi

-

7- she developed an acute attack of …….. following her exposure to a common cold.
a) Cyanosis

b) Bronchitis

c) Aspirate

d) Emphysema

-

8- he developed dysphonia after the …………………..

a) Bronchi
b) Aspirate
c) Laryngoscopy

d) Emphysema
-

9- the patient was …………… so that she could breathe.

a) Intubated

b) Cyanosis

c) Larynx

d) Bronchodilator

-

10- ventolinisa ………….which removes spasm and the patient to breathe.
a) Bronchodilator

b) Anoxia

c) Asthma

d) Larynx

-

11-in ………………, tobacco smoke and other airborne pollutants damage the tissues of air sacs.

a) Bronchodilator

b) Emphysema 

c) Cyanosis

d) Bronchitis

-

12- in acute bronchitis, the lining of the …………….. becomes inflamed.

a) bronchi

b) emphysema

c) cyanosis

d) aspirate

-

13- Mr. Zayd Al Nassir was brought to the emergency department with …………., which
Is an inflammation of the lung.

a) dysphonia

b) pharyngitis

c) pneumonia

d) bronchi

-

14- Norah Al Qhatani  is suffering from ……….. this inflammation is so severe that she cannot swallow anything.

a) laryngitis

b) dysphonia

c) aspiration

d) pharyngitis
-

15- Fahd Al Zamil has a sinus inflammation. This diagnosis is recorded on his chart as …

a) edema
b) sinusitis

c) spirometry

d) rhinoplasty

-

16- Hudah Al Saleh  required an emergency ……….. due to an obstruction in the windpipe.

a) Pneumonia
b) Sputum

c) Tracheostomy

d) Emphysernia

-

17- the patient had a/an …………… performed to correct damage to the septum of his nose.

a) Pharyngectomy

b) Intubation

c) Septoplasty

d) Aspiration

-

18- the doctor's examination showed that Hessah Al Zahrani has an  accumulation of blood in the pleural cavity. This diagnosis recorded on her chart as …………….

a) bronchitis
b) tracheostomy

c) pneumothorax

d) haemothorax
-

19- Faisal Al Hassan underwent a …….. to improve the shape his nose.

a) Pharyngectomy

b) rhinoplasty

c) laryngitis

d) laryngoscopy

-

20- During the surgery, Dr. Abu Melha  performed a ……… that is the surgical removal of the throat.
a) rhinoplasty

b) Septoplasty

c) Pharyngectomy

d) Thoracentesis

Unit (4)

-

1- Munera Saad has ……………., which is a variation in the rhythm of the heart.

a) Bradycardia

b) Arrhythmia

c) Angioplasty

d) Anaemia

-

2- during her pregnancy, Sarah A Amri was referred to a …….. to look after her heart problem.

a) neurologist

b) gastroenterologist

c) cardiologist

d) nephrologist

-

3- the risk of developing ………is determined largely by the level of cholesterol in the blood stream.

a) arrhythmia

b) bypass

c) anaemia

d) arteriosclerosis

-

4- coronary ………. Is used to widen coronary arteries that are narrowed or blocked by fatty deposits.

a) arteriosclerosis

b) echocardiography

c) fibrillation

d) angioplasty

-

5- she was admitted to Riyadh Central Hospital a/an …………following a attack.

a) anaemic

b) nasal

c) cardiac

d) arterial

-

6- Abdullah Al Zamil suffers from ………., which is an abnormally slow heartbeat .

a) bradycardia

b) fibrillation

c) anythmia

d) septum

-

7- During coronary artery bypass graft, one or more narrowed coronary arteries are using blood vessels from the lags or chest.

a) bypassed

b) contracted

c) recorded

d) catheterized

-

8-  A/an ……………is used to record heart movements using ultrasound.
a) bypass

b) catheterization

c) echocardiogram

d) tachycardia

-

9- A cardiac ………… stimulates the heart with electrical impulses to maintain a regular heartbeat.

a) Phlepography
b) valvuloptasty

c) oedema

d) pacemaker

-

10- Deep venous ……….. is a solid clot of blood occurring in the deep veins of the leg.

a) myocardial

b) heart

c) phlebotomy

d) thrombosis

-

11- ………………. may be used in  the diagnosis of deep vein thrombosis.

a) myocardial

b) ventricle

c) thrombosis

d) phlebography
-

12- in left heart failure, the patient develops an acute pulmonary ………..

a) pacemaker
b) oedema

c) phlebotomy

d) valvuloptasty

-

13- the patient underwent a mitral ………….. to repair the mitral valve surgically.
a) ventricle

b) phlebotomy

c) pacemaker

d) valvuloptasty

-

14- the left ….. receives blood from the left atrium .

a) myocardial

b) thrombosis

c) ventricle

d) oedema

-

15- the ….. is a hollow muscular organ in the size of the fist.

a) heart

b) valvuloptasty

c) ventricle

d) phlebotomy

-

16- these students are having a ……….. course this semester in order to learn how to draw blood samples from a vein .

a) oedema
b) phlebotomy

c) pacemaker

d) valvuloptasty

-

17- ………….. infarction is a very dangerous heart disease, where the tissues of the heart muscle die due to lack of blood supply .

a) valvuloptasty

b) oedema

c) myocardial

d) phlepography

-

18- …………. may occure after an acute myocardial infarction.

a) Pericarditis
b) Bronchitis

c) Pacemaker

d) Thrombosis

Unit (5)
-

1- Mrs. Al Zahrani suffers from ………… in which the level of red blood cells is less than normal .

a) Coagulation

b) Thrombus

c) haematologist

d) anaemia

-

2- Fahd has ……………., which is high concentration of fats in the blood .
a) leukocytes

b) coagulation

c) hyperlipidaemia

d) anaemia

-

3- ……………… play a very important role in fighting diseases .

a) hyperlipidaemia

b) leuocytes

c) anaemia

d) coagulation

-

8- the patient sustained a big facial ………. On the left side of his face. Blood collected in a big black sac.

a) lukaemia

b) anaemia

c) leukocytes

d) haematoma
-

5- in ………….. an abnormal number of white blood cells are present in the blood.

a) anemic

b) leukaemia

c) arterial

d) cardiac

-

6- she had a cerebral ………… which resulted in a paralysis of the left side the body.

a) haematoma

b) coagulation

c) haematologist
d) thrombus

-

7- Haemiphiliac patients should see the …………. regularly to follow them up .

a) haematologist

b) anaemia

c) leukocytes

d) leukaemia

-

8- patients with ………… problems should avoid injuries because their blood doesn’t clot properly.

a) Catheterization

b) bypass

c) tachycardia

d) coagulation

unit (7)

-

1- she suffered from a renal ………… in the right side of the abdomen. The pain was so severe that she was given an injection to relieve it .
a) lithotripsy

b) colic

c) incontinence

d) dysuria

- 

2- Mrs. Al Faiz has a renal failure. So, she receives ……………. Every week.

a) urogram

b) nephropexy

c) dialysis

d) urination

-

3- Mi Al Nassir admitted for ……….. which is destroying the stone in the ureter using shock waves.

a) dialysis

b) lithotripsy

c) catherization

d) urography

-

4- Urinary ………….. becomes more common with increasing age.

a) Pyelotomy
b) Nephrosis

c) Incontinence

d) Pyeloplasty

-

5- the patient underwent a which is a visual examination of the bladder.

a) nephrosis

b) pyclotomy

c) cystoscopy

d) pyeloplasty

-

6- she had a right …………. The kidney was excised because of cancer.

a) nephrectomy

b) nephrology

c) nephritis

d) Nephrosis

-

7- the surgery for Mr. Khalid Al Mansour included ……… that is the surgical repair of the renal pelvis .

a) retention

b) cystoscopy

c) pyeloplasty

d) lithotripsy

-

8- Faisal Al Qhatani suffers from ……, which is an excessive urination.
a) retention

b) polyuria

c) oliguria

d) dysuria

Unit (8)
-

1- Mansour Al Qtaibi  is suffering from …………, which is characterized by convulsions and loss of consciousness.

a) Poliomyelitis

b) haematoma

c) cerebral

d) epilepsy

-

2- the child suffers from a paralysis of his lower limbs as a result of not having the …….. vaccination .

a) microcephaly
b) concussion

c) amnesia

d) poliomyelitis
-

3- Abdullah Al Shammari went into a ………….. and never regained consciouness.

a) Spinal

b) Nervous

c) Coma

d) Encephalitis

-

4- Mona suffered …………… after the head injury. She lost her mony completely.

a) amnesia

b) concussion

c) haematoma

d) spinal

-

5- the child was born with …………… His head abnormally small.

a) nervous

b) microcephaly

c) cerebral

d) spinal

-

6- the patient sustained a brain …………….. in the accident .

a) concussion

b) microcephaly

c) amnesia

d) com

-

7- Munera Al Amri bad an ……………performed to examine her brain by recoring the brain wave activity.

a) Concussion

b) Come

c) Amnesia

d) electroencephalography

-

8- Ahmad Al Zahrani was admitted with a ceberal  ………., which is a mass of blood trapped in the tissues of the brain .
a) nervous

b) microcephaly

c) haematomy

d) spinal

-

9- the patient had a ………….. haemorrhage and went into a coma.

a) haematoma

b) poliomyelitis

c) concussion

d) cerebral

-

10- the …………….. nervous carry messages between the spinal cord and the chest, abdomen and extremities.

a) nervous

b) encephalitis

c) electroencephalography
d) spinal

-

11- the ……………. System control a huge number of activities in the body such as speaking, hearing, movement and sensation.

a) nervous
b) microcephaly

c) concussion

d) amnesia

-

12- Viral ………………. Is a condition in which the brain becomes inflamed.

a) encephalitis
b) epilepsy

c) poliomyelitis

d) cerebral

unit (8)

-

1- Mansour Al Amri had a/an …………… performed to fix the retina of the left eye.

a) retinopexy

b) trachoma

c) astigmatism

d) aphakia

-

2- in ………….. there is an increasing difficulty in seeing objects clearly from a distance.

a) myopia

b) diplopia

c) trachoma

d) conjunctivitis

-

3- Retinal …………………. may  begin with a small tear in the retina.
a) attachment

b) myopia

c) keratitis

d) detachment

-

4- Heba s condition required a/an ……………to repair the cornea surgically.

a) detachment

b) keratoplasty

c) retinopexy

d) iridectomy

-

5- ………….. can cause difficulty in reading and inability to see both near and distant objects clearly.

a) Vision 

b) lacrimination

c) blepharitis

d) astigmatism

-

6- the patient was admitted for ……….. to remove the iris of the right eye.

a) keratoplasty

b) conjunctivitis

c) iridectomy

d) retinopexy

-

7- He was treated for …………….. in order to correct his crossed eyes.
a) lacrimation

b) strabismus

c) astigmatism

d) myopia

-

8- the patient with the injured eye was referred to the ………. for treatment.

a) neurologist
b) ophthalmologist

c) urologist

d) gastroenterologist

unit (9)

-

1- Dizziness and loss of balance are symptoms of ………….

a) labyrinthitis
b) eardrum

c) tympanomety

d) otoscope

-

2- Rupture of the ……….. most commonly results from an acute bacterial infection in the middle ear.

a) aids

b) eardrum

c) audiometty

d) inner ear

-

3- …………….. is used to establish the cause of conductive hearing loss.

a) labyrinthith

b) audiometty

c) inner ear

d) tinnitus

-

4- An ………………… is an instrument used to diagnose disorders, such as otitis media and ruptured eardrum .

a) aids

b) otoscope

c) audiometty

d) tinnitus

-

5- …………….. is more common in adult people and affects approximately 3 in 10 people over the age of 60. these people hear a ringing sound in theft ears.

a) tinnitus
b) audiometty

c) aids

d) inner ear

-

6- Hearing …………… ampli sounds and improve hearing in people with most types of hearing loss.

a) tinnitus

b) labyrinthith

c) inner ear

d) aids

-

7- the ……………… test showed that the patient has a hearing loss which can be corrected by hearing aids.

a) tinnitus

b) labyrinthith 

c) tympanomety

d) inner ear

-

8- Excessive noise can damage the and lead to hearing loss.

a) tinnitus 

b) aids

c) inner ear

d) tympanomety

unit (10)

-

1- the …………… found that the patient had vitiligo, a condition where white patches appear on the skin.
a) Psoriatic

b) gangrene

c) lacerations

d) dermatologist
-

2- she gives herself ………….. injections of insulin.

a) melanoma
b) subcutaneous

c) biopsy

d) onychitis

-

3- she was diagnosed as suffering from ……… this inflammation is affecting her nails.

a) debridement

b) dermatologist

c) subcutaneous

d) onychitis
-

4- A needle ………. Was taken from the liver and the tissue was sent to the lab for a microscopic examination.

a) histological

b) melanoma

c) dermatologist

d) biopsy

-

5- she was admitted for treatment for ……….. a tumour formed of dark pigmented cells.

a) histological
b) biopsy

c) dermatologist

d) melanoma
-

6- He had ……………… caused by the chemotherapy he was receiving for cancer.

a) Onychitis

b) biopsy

c) alopecia

d) melanoma

-

7- Khalid Al Amri sustained ……………. On the chest and the back in the car accident in which he was involved last week.

a) lacerations

b) subcutaneous

c) cauterized

d) debridement

-

8- the right toe of the patient developed ………….. and was amputated to save his life.

a) alopecia

b) biopsy

c) gangrene

d) melanoma

-

9- the ear , nose and throat (ENT) doctor…………. The bleeding vessels in the nose to stop bleeding.
a) melanoma

b) cauterized

c) onychitis

d) alopecia

-

10- ………….. reports confirm the diagnosis of benign tissue growth.

a) biopsy

b) alopecia

c) histological

d) onychitis

-

11- the healing of the wound was faster after the …………..

a) melanoma 

b) biopsy

c) debridement 

d) onychitis

-

12- ……………… patients rarely suffer from itching and scaly pink patches.

a) biopsy

b) melanoma

c) onychitis

d) psoriatic
unit (11)

-

1- the ………….. bones make up the wrist .
a) humoral

b) carnal

c) femoral

d) iliac

-

2- …………… is used to inspect the knee joint and to treat disorders such as a damaged cartilage.

a) malacia

b) arthrocentesis

c) ankylosis

d) arthroscopy

-

3- the patient underwent ……………. To remove the cartilage.

a) ankylosis

b) arthrocentesis

c) diskectomy

d) chondrectomy

-

4- most ………….. are caused by an injury such as a direct impact or a twisting movement.

a) arthritis

b) ankylosis

c) fractures

d) malacia

-

5- investigations show that this old lady is suffering from a ………. Of bones. The levels of calcium, phosphate and vitamin D are very low.

a) Chondritis

b) Ankylosis
c) Arthritis

d) Malacia

-

6- Ahmad Al Qhatani fell down and broke his left ………… so, his upper arm was put in a plaster.
a) humerus

b) femur

c) carpus

d) ilium

-

7- she was involved in a car accident and sustained an injury to her left ………. Which broke it above the knee.
a) Wrist

b) Humerus

c) Femur

d) Cartilage

-

8- ……………….. an inflammation of a cartilage.

a) arthrocentesis

b) arthrodesis

c) chondritis

d) diskectomy

-


9- ……………. A surgical removal of an intervertebral disk.

a) Femoral

b) Humerus

c) Chondritis

d) Diskectomy

-


10- ………….. an abnormal softening of a part, organ or tissue, such as a bone.

a) femoral

b) chondritis

c) malacia

d) iliac

unit (12)
-

1-  Immediately after his stroke, Mansour suffered from a left ………. Which is a slight paralysis of the left side of the body.
a) muscles

b) atrophy

c) pronate

d) contracted

-


2- A ………………….. was performed to suture the muscles of the right foot.

a) tenoplasty

b) relax

c) rotation

d) hypotonia

-


3- the paralytic patient developed ……… due to lack of exercise and movement.

a) quadriplegia

b) ataxia

c) pronate

d) tone

-

4- Munera seed was diagnosed as suffering from …………., which is an inflammation of atendon.
a) contracted

b) atrophy

c) pronate

d) muscles

-


5- Ahmad underwent …………… to surgically repair his muscle.

a) quadriplegia

b) tone

c) pronate

d) ataxia

-


6-  ……………..was required to suture Khalid Al Shuhri s tendon wound after the injury.

a) tenoplasty
b) hypotonia

c) relax 

d) rotation

-

7- the spinal cord injury left Omar Al Amri with ………… He uses a wheelchair to move around.
a) ataxia
b) quadriplegia

c) pronate

d) tone

-

8- Saud Al Nassir suffered from ………….,which is characterized by the death of individual muscle fibres.

a) rotation

b) relax 

c) tenoplasty

d) hypotonia

-


9- He was admitted to the hospital for a …………. To repair his ruptured tendon.

a) muscles
b) tenoplasty 

c) atrophy

d) contracted

-


10- she ……………… rickets when she was 12 months old .

a) contracted

b) tenoplasty

c) quadriplegia

d) tone

unit (13)

-

1- the testes are the ……….. glands of the male and are the equivalent of the ovaries in the female.
a) Seminal

b) Semen

c) Spermatozoa

d) Reproductive

-


2- the testes are suspended in the ………….. by the spermatic cords.

a) oligospemia

b) scrotum 

c) spermatogenesis

d) infertility

-

3-  the …………….. vesicles secrete and expel a viscous fluid that helps to keep the spermatozoa alive .

a) seminal

b) spermatozoa
c) vasectomy

d) vas deferens

-


4- the male urethra provides a common pathway for the flow of urine and ……….

a) vasectomy

b) semen

c) spermatogenesis

d) scrotum

-

5- in the epididymis and deferent duct the ……………. Become more mature and capable of independent movement through a liquid medium.

a) Seminal 

b) Spermatozoa

c) Vas deferens

d) Vasectomy

-


6- infertility takes place at a temperature about 3o c lower than normal body temperature.
a) Infertility

b) Vasectomy

c) Oligospemia
d) Spermatogenesis
-


7- A sperm concentration below about twenty million permillihitre is called ………….

a) Spermatogenesis
b) Scrotum

c) Oligospermia

d) Vasectomy
-


8- A total sperm count below about fifty million per ejaculation results in ………..

a) Spermatozoa
b) vas deferens

c) infertility

d) seminal

-


9- ……………….. is commonly performed as a contraceptive method .

a) scrotum
b) infertility

c) spermatogenesis

d) vasectomy
-

10- In vasectomy the …………… is cut and tied or, in some cases, a valve or similar device is inserted .

a) spermatozoa

b) vas deferens

c) seminal

d) reproductive

unit(14)

-


1- cancer of the …………. Is one of the most common cancers affecting women.

a) conception

b) genital

c) cervix

d) gestation

-

2- A …………… is an X-ray of the breast and is used to screen for signs of breast cancer.

a) mammogram

b) gestation

c) fetus

d) antenatal

-


3- Women are encouraged to seek ……….. care early in the pregnancy.
a) cervix

b) mammogram

c) genital

d) antenatal
-


4- she was given an appointment with the ………. Clinic for follow up after her delivery.
a) Postnatal

b) Fetus

c) Antenatal

d) Genital 

-


5- scientists are trying to treat …………… the in its mother's womb before it is born.
a) antenatal

b) fetus

c) postnatal

d) gestation

-


6-  Psychological factors prevent …………… from taking place.

a) mammogram

b) cervix

c) genital

d) conception
-


7- …………… bleeding sometimes occurs after the 28th week of pregnancy.

a) myonecrosis

b) genital

c) antenatal

d) posthatal

-


8- Her…………….. was normal. She didn't develop any complications.

a) fetus

b) gestation

c) genital

d) conception

-


9- …………….. grows in the walls of the uterus during pregnancy.

a) conception

b) placenta

c) cervix

d) antenatal

-


10- After …………….. the ovary produces high levels of progesterone.
a) ovulation

b) genital

c) cervix

d) menstrual

unit (15)

-


1-  …………….. always try to use the minimum amount of radiation when taking X-rays.

a) hemiparesis

b) radiographers

c) quadriplegia

d) paraplegia

-


2- Femoral ……………. Is used to diagnose narrowing or blockage of arteries in the legs.

a) angiography

b) myasthenia

c) tenoplasty

d) rotation

-


3- A ………… is injected into the catheter so that the artery can be seen on an X-ray.
a) contrast medium

b) myonecrosis

c) atrophy

d) relaxation

-


4- MRI and ultrasound don't use …………………….
a) tenoplasty

b) tendinitis

c) radiation

d) spasm

-


5- In ………….. X-ray beams are used to create detailed sectional images.

a) myoplasty

b) myoparesis

c) tenoplasty
d) CT scanning

-

6- MRI uses …………. And radio waves in producing sectional images of internal organs and structures .

a) tendinitis

b) tenorrhaphy

c) myorrhaphy

d) magents

-


7- In ………….. ultrasound waves are used to image the interior of the heart .

a) pronation

b) tenoplasty

c) ultrasound

d) paraplegia

-


8- ……………. Scanning uses sound waves of a very high frequency.

a) magnets

b) myasthenia

c) echocardiography

d) radiographers

-

9- …………… A radio- opaque substance, put into an organ or part of the body so that it will show clearly in an x-ray photograph.

a) atrophy

b) MRI

c) Contrast media

d) Contracted

-


10- ………………. An x-ray examination of blood vessels.

a) tone

b) radiologist

c) angiography

d) fluoroscopy

unit (16)

-

1- the Saudi Arabian ……….. industries Company opened a new drug factory in Al Qassim last year.

a) Pharmaceutical

b) Pharmacology

c) Pharmacy

d) Pharmacologist

-

2- Ahmad works in the outpatients ………….. He prepares and dispenses medicines there. 

a) Prescription

b) Pharmacology

c) anaesthesia

d) Pharmacy

-


3- the study of drugs and theft effects on the body is known as ……………

a) Pharmacist
b) Pharmacology

c) Pharmaceutical
d) Pharmacy
-


4- the pharmacists at the outpatients pharmacy filled out 9800 ………last month.

a) Prescriptions
b) Abuses

c) Pharmacies

d) Drugs

-


5- ………….. are drugs that are used for the treatment of bacterial infections.

a) Antipyretics
b) Contraindications

c) Anaesthetics

d) Antibiotics
-

6- Scientists are testing new to treat patients with severe acute respiratory 

syndrome (SARS).
a) Prescriptions
b) Pharmacists

c) drugs

d) symptoms

-


7- Aspirin is ……………. In patients with gastric ulcer.
a) abused

b) prescribed

c) stimulated

d) contraindicated

-


8- the child responded to auditory ………… He reacted well to the sounds around him.

a) Prescriptions

b) drugs

c) stimuli

d) adverse reactions

-

9- some people use narcotics wrongly. Their …………… leads to serious health problems.

a) Signs

b) Abuse

c) Anaesthesia

d) Symptoms

-

10- In local ……….. the patient is given a substance that removes the feeling in a certain part of the body. 

a) Stimulation

b) Anaesthesia

c) Analgesia

d) Addiction

-


11- Caffeine is the most widely used …………. In the world.

a) tablet

b) stimulant

c) antibiotic

d) suppository

-


12- Dry mouth is a …………. Of antihistamine drugs .

a) sign

b) side effect

c) symptom

d) stimulus

